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6080 int | 6,3 2,5 250 maximum 300 13
6082 int | 28,5 0,6 —1700 maximum 6 AS 7-G Impulse < 10 usec
—3000 | —2300 maximum 6080, 8062 [ (I5%)
90 — 30 48112 | 3565 | 460 | 23 | |
6HI13c | ccee ! 63 28 { 250 130 maximum 300 13
6336 int 1 63 | 475 190 170200 | 814 | 250 | 2+3,4 | 200 |
6394 amer I 26,5 1,2 400 400 maximum 300 30
1) Up= 135V, Rg=2 kQ
Equivalents
A 1834 Marc = 6 AS 7-G Cs | Cal| Cgial Coig | Cala| Crix
A 4475 amer = 6 AS 7-G T.
E 6080 SFR = 6080 pF | pF pF pF pE oF
ECC 230 eur = 6080
:'::":ZA S;’er = :°i°S 7.6 6AS7-G | 68| 23| 105 | 07 | 1es | 1l
6 AS 7-W?) amer = 6 AS 7-G : : szc ;’5 iz :'5
6HS5C CCCP = 6 AS 7-G ’
6 H I CCCP = 6 AS 7.G 6080 55| 25| 86 | 05 | 22 7
6080-WA1) int = 6080 6336 14 5 16 1
6520') amer = 6080
1) vide 4, a, b, g
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